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I.  Use the figures below to answer the questions:


(1)  Name two pairs of vertical angles.




(2)  Name a pair of supplementary angles.




(3)  If  ( a measures 25°,  what is the measure of ( b?

(4)  If ( a measures 25°,  what is the measure of ( c?

(5)  Name a pair of complementary angles.

(6)  If ( f measures 43°,  what is the measure of ( g?





II.  Name the complementary angles to each of the following:

(7.) 45°
(8.)  70°
(9.) 12°
(10.) 62°
(11.) 25°
(12.) 50°

III.  Name the supplementary angle to each of the following:

(13.) 120°
(14.) 40°
(15.)  110°
(16.)  25°
(17.) 127°
(18.) 100°

IV.  What angle is complementary to 80°?

(a) 10°

(b) 80°

(c) 170°
(d) 180°

(20.)  Which of the following pairs of angles are supplementary?


(a) 45° and 30°
(b) 30° and 60°
(c) 60° and 60°
(d)90° and 90°

(21.)  Look at the figure below.  It shows a number of different angles.  Which named pair of angles are supplementary to each other?




(a)  (AOB and ( BOC

(b)  (AOB and ( DOE

(c)  (AOC and (COD

(d)  (AOD and (DOE
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SOL 8.6 Worksheet #1 - Angles

Find the indicated angle measure


1. 





1. m ( ABC = 



2. 





2. m ( ABC =






3.  Two angles are complementary.  The measure of one angle is half the measure of the other.  Find the measures of the two angles.

4.  Two supplementary angles are given.  The measure of one angle is 50° less than the measure of the other.  What does the other angle measure?
5.  Two complementary angles have equal measures.  What is the measure of each angle?
Use diagram at left






            6.  Name a pair of complementary angles.






          

7.  Name a pair of supplementary angles.
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SOL 8.6 Worksheet # 2 - Angles

When  two lines intersect, two pairs of opposite angles are formed.  These opposite angles are called vertical angles.  Vertical angles ARE EQUAL.







(1 and (3 are vertical angles








so m(1 = m(3








m(2 = m(4 because







(2 and (4 are vertical angles

1.  In each figure below m(1 = 60°.  Find the measure of (2 and (3



a)                                                             b)  






2.  In each figure m(1 = 35.  Find the m(2 and m(3.
(a)




         (b)






3.  Find m(1, m(2, m(3, m(4, m(5
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SOL 8.6 – Vertical, Complementary, and Supplementary Angles
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SOL 8.6 – Angles
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